#### TAIWANESE JOURNAL OF MATHEMATICS

Vol. 8, No. 2, pp. 183-190, June 2004

This paper is available online at http://www.math.nthu.edu.tw/tjm/

# RATE OF CONVERGENCE BY THE BEZIER VARIANT OF PHILLIPS OPERATORS FOR BOUNDED VARIATION FUNCTIONS

### Vijay Gupta

**Abstract.** In the present paper, we introduce the Bezier variant of Phillips operators and study the rate of convergence for the Phillips-Bezier operators for bounded variation functions.

#### 1. Introduction

The Phillips operators [6] are defined by

(1.1) 
$$S_{s}(f;t) = \begin{cases} Z^{1} & \tilde{A} \\ e^{i s(t+u)} & \frac{\tilde{A}}{m!} \frac{(s^{2}t)^{m}u^{m_{1}-1}}{m!(m-1)!} \end{cases} f(u)du + e^{i s^{4}t}f(0)$$

$$= W(s;t;u)f(u)du;$$

where

$$W(\ ; t; u) = e^{i \ (t+u)} \underbrace{\tilde{A}}_{m=1} \frac{(\ ^2t)^m u^{m_i \ 1}}{m!(m-1)!} + \pm (u)$$

with  $\pm$ (u) being the Dirac delta function. Alternatively, the operators (1.1) may be written as follows:

$$S_{s}(f;t) = \int_{m=1}^{\infty} p_{s;m}(t) p_{s;m_{i-1}}(u)f(u)du + e^{i s^{t}}f(0) \qquad t \in [0; \infty)$$

Received January 4,, 2002. revised May 24, 202.

Communicated by H. M. Srivastava.

2000 Mathematics Subject Classification: 41A30, 41A36.

Key words and phrases: Positive linear operators, Rate of convergence, Bounded variation functions, Mean value theorem, Total variation.

184 Vijay Gupta

where  $p_{j,m}(t) = e^{i \cdot j \cdot t} \frac{(j \cdot t)^m}{m!}$ :

The Phillips operators defined by (1.1) are similar to the modified Szasz- Mirakyan operators studied in [3,4]. Some approximation properties of the Phillips operators were discussed in [1], [2] and [5]. Now we introduce the Bezier variant of these Phillips operators. For  $^{\circledR} \geq 1$  and for a function f defined on  $[0;\infty)$ , the Bezier variant of the Phillips operator is defined as

(1.2) 
$$S_{j,\emptyset}(f;t) = \int_{m=1}^{\infty} Q_{j,m}^{(\emptyset)}(t) p_{j,m_{j-1}}(u)f(u)du + Q_{j,0}^{(\emptyset)}(t)f(0);$$

where  $Q_{j,m}^{(8)}(t) = J_{j,m}^{(8)}(t) - J_{j,m+1}^{(8)}(t)$ ;  $J_{j,m}(t) = \int_{j=m}^{p} p_{j,j}(t)$ : These generalized operators (1.2) may also be written in the alternative form as follows:

(1.3) 
$$S_{s,s}(f;t) = W_{s}(s;t;u)f(u)du;$$

where

$$W_{\text{@}}(\text{$;$}t;u) = \text{$$\frac{1}{2}$}Q_{\text{$;$}m}^{(\text{@})}(t)p_{\text{$;$}m_{i}=1}(u) + Q_{\text{$;$}0}^{(\text{@})}(t)Q_{\text{$;$}0}^{(\text{@})}(u)\pm(u)$$

 $\pm$ (u) being the Dirac delta function.

Obviously, the operators  $S_{j,\emptyset}(f;t)$  defined by (1.2) are linear positive operators. Particularly when  $^{\circledR}=1$ , the operators (1.2) reduce to the Phillips operators  $S_{j,1}\equiv S$ . Also  $S_{j,\emptyset}(1;t)=1$ . Some basic properties of  $J_{j,m}$  are as follows:

(i.) 
$$J_{::m}(t) - J_{::m+1}(t) = p_{::m}(t)$$
;  $m = 0, 1, 2, ...$ 

(ii). 
$$J_{s,m}^{0}(t) = p_{s,m_{1},1}(t); m = 1; 2; 3; .....$$

(iii). 
$$J_{s,m}(t) = \int_{0}^{\infty} p_{s,m_{1},1}(u)du; m = 1; 2; 3:::::$$

(iv). 
$$p_{m=1} \int_{3/m}^{0} (t) = \int_{0}^{0} p_{3/m_{i}} p_{3/m_{i}}(u) du = \int_{0}^{1} t du$$

(v). for every  $m \in N$ ;  $0 \le J_{m}(t) < 1$  and  $J_{m}(t)$  increases strictly on  $[0; \infty)$ .

In the present paper, we study the rate of convergence of the Bezier variant of Phillips operators, defined by (1.2), for bounded variation functions.

## 2. Auxiliary Results

In this section we give certain lemmas which are needed by us to prove our main result (Theorem 1 below).

**Lemma 1.** [7, p. 159]. If  $\{ v_m \} (m \ge 1)$  are independent random variables with the same distribution and  $0 < Dv_m < \infty$ ;  $\bar{a}_3 = E |v_1 - a_1|^3 < \infty$ ; then

$$\max \left[ P \right] \frac{\tilde{A}}{b_1 \sqrt{s}} \underset{m=1}{\overset{!}{X}} (w_m - a_1) \leq y - \frac{1}{\sqrt{2 \frac{1}{4}}} \underbrace{z_y}_{i=1} e^{i u^2 = 2} du \right] < \frac{C^{-3}}{b_1^3 \sqrt{s}};$$

where  $a_1 = E(v_1)$  (expectation of  $v_1$ ),  $b_1^2 = Dv_1 = E(v_1 - a_1)^2$  (variance of  $v_1$ ) and  $1 = \sqrt{24} \le C < 0.82$ .

It is well known that the basis function  $p_{j,m}(t)$  corresponds with the Poisson distribution in the probability theory. Using Lemma 1, Gupta and Pant [3] obtained the inequality

$$p_{s,m}(t) \leq \frac{32t^2 + 2t + 5}{2\sqrt{t}}; t \in (0, \infty)$$
:

In Lemma 3 of [9] it is proved that  $p_{j,m}(t) \le \frac{1}{2^p \sqrt[3]{t}}$ . Recently, Zeng and Zhao [10] improved these results and obtained the exact bound as follows:

**Lemma 2.** [10]. Let j be a fixed non negative integer and  $H(j) = \frac{(j+1-2)^{j+1-2}}{j!}$   $e^{i(j+1-2)}$  Then, for all m; t such that m > j and  $t \in (0, \infty)$ , there holds

$$p_{j,m}(t) \leq \frac{H(j)}{\sqrt{t_{j}}}$$
:

Moreover, the coefficient H(j) and the asymptotic order  $_{\downarrow}^{i}$   $^{1=2}$  (for  $_{\downarrow} \to \infty$ ) are the best possible.

**Lemma 3.** [2]. Let the function  $_{\cdot,r}^{1}(t)$ ;  $r \in \mathbb{N}^{0}$  (the set of non negative integers) be defined by  $_{\cdot,r}^{1}(t) = S$  ( $(u-t)^{r}$ ; t): Then  $_{\cdot,0}^{1}(t) = 1$ ;  $_{\cdot,1}^{1}(t) = 0$  and  $_{\cdot,2}^{1}(t) = \frac{2t}{s}$ ; and the following recurrence relation holds:

$$\frac{1}{s,r+1}(t) = \frac{2t}{s} \frac{1}{s,r}(t) + \frac{t}{s} \frac{1}{s,r}(t) + \frac{t}{s} \frac{1}{s,r}(t) + \frac{2tr}{s} \frac{1}{s,r}(t) + \frac{tr(r-1)}{s} \frac{1}{s,r} \frac{1}{s,r} \frac{1}{s}(t) + \frac{2tr}{s} \frac{1}{s,r} \frac{1}{s}(t)$$

Furthermore

186 Vijay Gupta

(i:) <sup>1</sup>  $_{:r}(t)$  is a polynomial in t and 1=  $_{:r}(t)$  for every  $t \in [0; \infty)$ .

(ii:) <sup>1</sup> 
$$_{:r}(t) = O(_{s}^{[(r+1)=2]})$$
, for every  $t \in [0, \infty)$ .

**Lemma 4.** For the kernel  $W_{\mathfrak{B}}(\ ;t;u)$  of the operators  $S_{\ ;\mathfrak{B}}$ , we have

(2.1) 
$$Z^{y} \\ W_{\$}(\c ; t; u) du \leq \frac{2^{\$}t}{\c (t-y)^{2}} 0 \leq y < t;$$

(2.2) 
$$V_{\$}(z;t;u)du \leq \frac{2^{\$}t}{z(z-t)^{2}}t < z < \infty :$$

*Proof.* We first prove (2.1). Clearly

$$\begin{split} Z^y & \qquad W_{\$}(\c ; t; u) du \leq \frac{Z^y}{(t-u)^2} W_{\$}(\c ; t; u) du \\ & = \frac{1}{(t-y)^2} S_{\c ; \$}((u-t)^2; t) \leq {\$}(t-y)^{\frac{1}{2}} C_{\c ; 2}(t); \end{split}$$

Using Lemma 3, (2.1) follows. The proof of (2.2) is similar.

**Lemma 5.** For all  $t \in (0, \infty)$  and  $m \in \mathbb{N}$ , there holds

$$J_{\square,m}^{\$}(y)p_{\square,m}(t) \leq Q_{\square,m}^{(\$)}(t) \leq \$p_{\square,m}(t) \leq \frac{\$H(j)}{\sqrt{\ _{\square}t}}:$$

## 3. Main Theorem

In this section we prove the following main theorem.

**Theorem 1.** Let f be a function of bounded variation on every finite subinterval of  $[0;\infty)$  and let  $V_a^b(g_t)$  be the total variation of  $g_t$  on [a;b]. Also let  $^{\circledR} \geq 1$  and  $f(t) = O(t^r); t \to \infty$ , for some r > 0. Then, for every  $t \in (0;\infty)$  and  $_s$  sufficiently large, we have

$$(3.1) \quad \frac{1}{S_{s,0}}(f;t) - \left\{ \frac{1}{®+1} f(t+) + \frac{®}{®+1} f(t-) \right\}^{\frac{1}{2}} \le |f(t+) - f(t-)| \frac{®H(j)}{\sqrt{\sqrt{t}}} + \frac{4®+t}{\sqrt{t}} \sum_{m=1}^{\infty} V_{t_i}^{t+t_i} \frac{p_{\overline{m}}}{\overline{m}}(g_t) + O(\sqrt{t})$$

where

$$g_t(u) = \begin{cases} 8 \\ < f(u) - f(t-); 0 \le u < t \\ 0; u = t \\ f(u) - f(t+); t < u < \infty \end{cases}$$

Proof. Following [8, eq. (28)], we have
$$\frac{34^{\frac{1}{2}}}{-S_{s}} (f;t) - \frac{1}{\mathbb{R}+1} f(t+) + \frac{\mathbb{R}}{\mathbb{R}+1} f(t-)$$

$$\leq |S_{s} (g_t;t)| + \frac{1}{2} - S_{s} (sign(u-t);t) + \frac{\mathbb{R}-1}{\mathbb{R}+1} - |f(t+)-f(t-)|$$

First.

$$S_{s,\mathfrak{B}}(sign(u-t);t) = W_{\mathfrak{B}}(s;t;u)du - W_{\mathfrak{B}}(s;t;u)du$$

$$t Z^{1}$$

$$= -1 + 2 W_{\mathfrak{B}}(s;t;u)du$$

Now using the fact that  $\int_t^R p_{j,m}(u)du = \int_{j=0}^{p_0} p_{j,j}(t)$  for  $t \in (0,\infty)$ , we have

$$\begin{split} S_{\underline{J}; @}(sign(u-t);t) &= -1 + 2 \sum_{m=1}^{\infty} Q_{\underline{J};m}^{(@)}(t) \sum_{j=0}^{\infty} p_{\underline{J};m}(u) du \\ &+ Q_{\underline{J};0}^{(@)}(t) Q_{\underline{J};0}^{(@)}(u) \pm (u) du \\ &= -1 + 2 \sum_{m=1}^{p} Q_{\underline{J};m}^{(@)}(t) \sum_{j=0}^{m+1} p_{\underline{J};j}(t) \pm (u) = 0 \text{ as } t > 0 \\ &= -1 + 2 \sum_{j=0}^{p} p_{\underline{J};j}(t) \sum_{m=j}^{p} Q_{\underline{J};m}^{(@)}(t) = -1 + 2 \sum_{j=0}^{p} p_{\underline{J};j}(t) J_{\underline{J};j}^{@}(t) \end{split}$$

Thus we have

$$S_{\text{s}}(\text{sign}(u-t);t) + \frac{^{\text{®}}-1}{^{\text{®}}+1} = 2 \sum_{j=0}^{\text{X}} p_{\text{s}}(t) J_{\text{s}}^{\text{®}}(t) - \frac{2}{^{\text{®}}+1} \sum_{j=0}^{\text{X}} Q_{\text{s}}^{(^{\text{®}}+1)}(t)$$

Since  $\sum_{i=0}^{P} Q_{s,i}^{(^{\otimes}+1)}(t) = 1$ , by mean value theorem, it follows that

$$Q_{:j}^{(^{^{\otimes}}+1)}(t) = J_{:j}^{^{\otimes}+1}(t) - J_{:j+1}^{^{\otimes}+1}(t)$$
$$= (^{^{\otimes}}+1) p_{:j}(t)^{^{^{\otimes}}}(t)$$

where  $J_{:,j+1}^{\circ}(t) < {\circ \circ \atop :,j}^{\circ}(t) < J_{:,j}^{\circ}(t)$ . Therefore ,

$$\begin{split} \bar{-}S_{a,j,\emptyset}(\text{sign}(u-t);t) + \frac{\circledast - 1}{\circledast + 1} &= 2 \sum_{j=0}^{PP} p_{a,j}(t) (J_{a,j}^{\circledast}(t) - \hat{a}_{a,j}^{\circledast}(t)) \\ &\leq 2 \sum_{j=0}^{M} p_{a,j}(t) (J_{a,j}^{\circledast}(t) - J_{a,j+1}^{\circledast}(t)) \leq 2 \hat{a}_{a,j}^{M}(t); \end{split}$$

where we have used the inequality  $b^{\text{@}} - a^{\text{@}} < \text{@}(b-a); 0 \le a; b \le 1$  and  $\text{@} \ge 1$ . Applying Lemma 2, we get

(3.3) 
$$-S_{s,0}(sign(u-t);t) + \frac{e-1}{e+1} = \frac{eH(j)}{\sqrt{t}}; t \in (0;\infty):$$

Next we estimate  $S_{:, \mathfrak{B}}(g_t; t)$  as follows:

where  $I_1=[0;t-t=\sqrt{\ }],\ I_2=[t-t=\sqrt{\ };t+t=\sqrt{\ }]$  and  $I_3=[t+t=\sqrt{\ };\infty)$  . We start with the estimate of  $E_2.$  For  $u\in[t-t=\sqrt{\ };t+t=\sqrt{\ }],$  we have

$$|E_2| \leq V_{t_i}^{t+t_{\overline{p}}} \stackrel{p_-}{\underset{t_i}{=}} (g_t) \leq \frac{1}{s} \underset{m}{\overset{X}{\times}} V_{t_i}^{t+t_{\overline{p}}} \stackrel{p_{\overline{m}}}{\underset{m}{=}} (g_t):$$

$$E_{1} = \int_{0}^{Z^{y}} g_{t}(u)d_{u}(\bar{z}(t;y)) = g_{t}(y+)\bar{z}(t;y) - \int_{0}^{Z^{y}} g_{t}(t;u)d_{u}(g_{t}(u))$$

Using Eq. (2.1) of Lemma 4, we have

$$(3.6) \ |E_1| \leq V_{y+}^{\,t}(g_t) \frac{2^\circledast t}{ \ \ \ \ } + \frac{2^\circledast t}{ \ \ \ \ } \frac{1}{(t-u)^2} d_u(-V_u^{\,t}(g_t)) \leq \frac{4^\circledast \times}{ \ \ \ \ } V_{t_t}^{\,t} \mathop{\vdash}_{m=1} P_{\overline{m}}(g_t)$$

Finally, we estimate  $E_3$ . We define

$$g_t(u) = \begin{cases} g_t(u); 0 \le t < 2t \\ g_t(2u); 2t < u < \infty \end{cases}$$

and decompose E<sub>3</sub> into two parts as follows:

With  $z=t+t=\sqrt{\ }$  , the first integral can be written in the form

By (2.1) of Lemma 4, we have

$$|E_{31}| \leq \frac{2^{\circledast}t}{\frac{1}{s}} \lim_{R! \ 1} \frac{8}{(z-t)^2} + \frac{1}{(R-t)^2} + \frac{7}{(u-t)^2} d_u(V_t^u(g_t));$$

Integrating by parts the last term, we obtain

(3.8) 
$$|E_{31}| \le \frac{4^{\textcircled{m}}}{t} \sum_{m=1}^{X} V_t^{t+t} |^{p_{\overline{m}}}(g_t)$$

To estimate  $E_{32}$ , by our assumption there exists an integer r such that  $f(u) = O(u^{2r})$ ;  $u \to \infty$ . Thus, for a certain constant M depending on f; t and r, we have

$$\begin{split} |E_{32}| &\leq M & W_{\$}(\c ; t; u) u^{2r} du \leq {^{\circledR}M} & W(\c ; t; u) u^{2r} du; \\ & 2t & 2t \end{split}$$

where we have used Lemma 5. Obviously,  $u \ge 2t$  implies that  $u \le 2(u-t)$  and it follows by Lemma 3 that

(3.9) 
$$|E_{32}| \leq {}^{\otimes}2^{2r}M^{1} :_{2r}(t) = O(_{3}^{i r});_{3} \to \infty$$
:

Collecting the estimates of (3.2) to (3.9), we get the required result.

This completes the proof of the theorem.

## ACKNOWLEDGEMENTS

The author is extremely thankful to Prof. H. M. Srivastava for his valuable advise and many suggestions in the overall improvement of this paper.

#### REFERENCES

- 1. V. Gupta and P. N. Agrawal, Lp -approximation by iterative combination of Phillips operators, *Publ. Inst. Math. (Beograd) (N. S.)* **52(66)** (1992), 101-109.
- 2. V. Gupta and G. S. Srivastava, On the rate of convergence of Phillips operators for functions of bounded variation, *Ann. Soc. Math. Pol.*, *Ser. I Commentat. Math.* **36** (1996), 123-130.
- 3. V. Gupta and R. P. Pant, Rate of convergence for the modified Szasz-Mirakyan operators on functions of bounded variation, *J. Math. Anal. Appl.* **233** (1999), 476-483.
- 4. V. Gupta, P. Gupta and M. Rogalski, Improved rate of convergence for the modified Szasz-Mirakyan operators, *Approx. Theory and Appl.* **16(3)** (2000), 94-99.
- 5. C. P. May, On Phillips operators, J. Approx. Theory 20 (1977), 315-322.
- 6. R. S. Phillips, An inversion formula for semi groups of linear operators, *Ann. Math.* **59** (1954), 352-356.
- 7. Z. Wang, Fundamental Theory of Probability and its Applications, Bejing 1979. [in Chinese]
- 8. X. M. Zeng and W. Chen, On the rate of convergence of the generalized Durrmeyer type operators for functions of bounded variation, *J. Approx. Theory* **102** (2000) 1-12.
- 9. X. M. Zeng, On the rate of convergence of the generalized Szasz type operators for functions of bounded variation, *J. Math. Anal. Appl.* **226** (1998), 309-325.
- 10. X. M. Zeng and J. N. Zhao, Exact bounds for some basis functions of approximation operators, *J. Inequal. Appl.*, **6** (2001), 563-575.

Vijay Gupta School of Applied Sciences, Netaji Subhas Institute of Technology, Sector 3 Dwarka, Azad Hind Fauj Marg, New Delhi 110045, India E-mail: vijay@nsit.ac.in